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Glﬁp:atq;tr,ﬁrA,+A2%

(@ 0

(b) TAW TS

(c) TR FUTCHS

(d)qﬁp,q,rﬂ‘ﬂm%ﬁmﬂi
AGYT FTcHS

2.9R (a-b)b-c)c—a)=2 3R

a b c
a® b &
a b

abc=6 % @ & A"

;R ?
(a) 3
(b) 12
(c) 14
(d) 15

3. Feafofeas # & fom witeet & anfiw

a b c
b ¢ a
calb

AR T BT R 7

l.a+b+e=0
2. &+ b +3=3abe

3.2+ +c2—ab-bc—ca=0
49 fou T g W W W oI
g
(a) Faer 1 3R 2

(b) Fae 2 3R 3
(c) Faa 1 3R 3

@ 1,23K3
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4. 318t A=[m n], B=[-n -m] 3K
cz[jn] ¥ dam ¥ PefifeE |
ﬁlﬁﬂiﬁﬁl‘q:

1. CA=CB
2. AC=BC

3. C(4+B)=CA+CB

I9YH H § -6 /-8 T wE
?/27?

(a) &9 1

(b) e 2

(c) 23R 3

(d 13R2

2sinf@ cosf@ 0O
5.3 A=|-2cos@ sin@ 0 & A

= e
A(adjA) Toras aer & 7
() I AR
b) -1
(© 1
(@ 21

W&l | UF qEHE IelE R |

6. k % foom 7w & oo smege

1-2sin’0 2cos?0=1 3
k 2%

FegeHHT R ?
(a) ¥ 0
(b) = 1

(c) ¥aa 2

(d) fredt oft arafas 7@

[2cos29 2c0s26 6}



q 14 <1
rlandA,=|g r p
p rpaq
where p#g#r, then A, + A, is
(@ 0

(b) always positive

1
1LIfA =|1
1

~aw

(c) always negative
(d) positive if p, g, r are positive else
negative

. If (a— b)b— c)c—a)=2 and abc = 6,
then what is the value of

. Under which of the following condi-
tions does the determinant

a b c

b ¢ a| vanish ?

cab

l.a+b+c=0

2. @ + B+ = 3abe

. a2 +b+ct-ab-bc—ca=0

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2and 3

4. Consider the following in respect of

the matrices :

A=[m n], B=[-n —m] and C=[_”;:|

1. CA=CB
2. AC=BC
3. C(A+B)=CA+CB

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) 2and 3
(d) 1and2

2sind om0 0]

. If A=|-2cos@® sin@ 0], then

-1 1 1
what is A(adjA) equal to ?
(a) Null matrix
(b) -1
(c) 1
(d) 271
where I is the identity matrix.

. For what value of k is the matrix

1-2sin%0 2cos’6-1 3
k 2k 1

singular ?

(a) O only

(b) 1 only

(c) 2 only

(d) Any real value

[2cos29 2c0s26 6]
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IR B=adid ¥ | Frafafes & 2
FE-AT /AR F wD /8 2

1. AB = BA

2. AB U% Sifew smegg #

3. AB U& A AR T GehaT §
¥ fir T Fe W W@ W ') I
T
(@) Fae
(b) Faa 1 3K 2
(c) ¥aw 2
@ 1,23K3

LA FifE & amgel 4 IR B &

ey # fmaffes @9 w® fmw

$ifrg

1. af AB U= Y smege ®, @ 4 3R
B#H & #9-8-50 @ T A
e ©

2. A% AB UF qwHE IegE ®, at
BA=AB

It # § SN-A1/F-8 F99 G

j/& 7

(a) a1

(b) e 2

() 1322

(d TAq 1,782

.afG 4, ®fe 3 W & awws IegE
? 3R B @ whed ® @ smeE
C=A+B % GRfe & 7 &7 & 7
(@ 1
(b) 2
(c) 4
(d) 8
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10. 79 ifSg 4 3R B w9 dfe & @

11

12.

AV ITIE 36 TR € 16 4B =4
R B4=B 2| frafufes # @

F-qT/BA-Q T A R/ 2
1. A%>=4
2. AB>=4’B
A fiu T Fe & W@ W 9E I
gfeg
(a) &a«
(b) Fae 2
(c) 1323l
@ AN 1L,TE2

.(1+2)9(1—3)9% R ¥ e v

X
)
(@ 9

(b) 10
(c) 19

(d) 20

(x+)1°% WOR & day § Feafafaa
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(b) & 2

©) 13R23H

(d FA 1,782
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7. Let A be a non-singular matrix and

B=adjA. Which of the following
statements is/are correct ?

1. AB = BA
2. AB is a scalar matrix
3. AB can be a null matrix

Select the correct answer using the
code given below :

(a) 1 only

(b) 1 and 2 only

(c) 2 only

(d 1,2 and 3

. Consider the following statements in

respect of square matrices 4 and B of
same order :

1. If AB is a null matrix, then at least
one of A and B is a null matrix.

2. If AB is an identity matrix, then
BA=AB.

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

. If A is the identity matrix of order 3
and B is its transpose, then what is the
value of the determinant of the matrix
C=A+B?

(a 1
() 2
(c) 4
d 8

10. Let A and B be non-singular matrices

of the same order such that AB = 4 and
BA=B. Which of the following
statements is/are correct ?

1. A2=4
2. AB’=A’B

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

11. How many terms are there in the

9 9
expansion of (1+ 2) [1-%) i

X
@ 9
() 10
©) 19
d) 20

12. Consider the following statements in

respect of the expansion of (x +y)'°:

1. Among all the coefficients of the
terms, the coefficient of the 6th
term has the highest value

2. The coefficient of the 3rd term is
equal to coefficient of the 9th term

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

A - SDFR-S-HTM



13.

14.

15.

afe C(3n, 2n)=C(3n, 21—-7) &, @
C(n, n—5)=H #F F1 8 ?

(a) 42
(®) 35
(c) 28

@ 21

C(51,21) - C(51, 22) + C(51, 23) -
C(51, 24) + C(51, 25) - C(51, 26) +

C(51, 27) - C(51, 28) + C(51, 29) -

C(51,30) & AW 1 8 ?

(@ C(51,25)

(5) (51, 27)

(c) C(51,51)-C(51,0)

d) C(51,25)-C(51,27)

300 3R 400 % i &, Vet feralt fom

e § fmwr a1 ot s grgw
R e/ ?

(@) 32
(b) 36
(c) 40

d) 45

16. =% ‘TIGER’ & &Rt & 0@ f&Fam

wag § o =R 9w ot ) A e
g 7

SDFR-S-HTM - A

17.

18.

19.

(a) 72
(®) 36 -
() 18
(d) 12

M Wi o 3R B, wHEwm
x2+px+q=0a51ﬁ'§lﬂﬁa33ﬁ(
B3, TFHET x2 4+ mx+n=0 %ng-r%,
?ﬁm-l-nﬂ'ﬂﬁﬂ%?

@ p’+¢>+pg

®) P’+¢-pg

© P’+¢*+3pq

) PP+¢*-3pg
ﬂ'ﬁdlﬁlﬂ;aaﬂiﬂ, HHTEHT
12——ax—bx+ab—c=0ai'lff'§|

g Fi-a1 fguma e @ o g@
a IR bE ?

@ xX*-ax-Bx+af+c=0
®) P*-ax-Px+af-c=0
() P*+ax+px+af+c=0

d P*+ax+px+af-c=0

afe gt
X*—ax—bx—cx+bc+ca=0%
TR ¥, @ frafafa § @ -
R ?

@ a+tb+tc=0

() a—b+c=0

(¢c) a+b-c=0

d -a+b+c=0



13. If C(3n, 2n) = C(3n, 2n-7), then what
is the value of C(n, n-5)?

(a) 42
®) 35
(c) 28

(d) 21

14. What is the value of
C(51,21)-C(51, 22) + C(51, 23) -
C(51,24) + C(51, 25) - C(51, 26) +
C(51,27) - C(51, 28) + C(51, 29) -
C(51, 30) ?

(a) C(51,25)
®) C(51,27)
() C(51,51)-C(51,0)
d) C(51,25)-C(51,27)
15. How many odd numbers between 300

and 400 are there in which none of the
digits is repeated ?

(a) 32
(b) 36
(c) 40

(d) 45

16. How many permutations are there of
the letters of the word ‘TIGER’ in
which the vowels should not occupy
the even positions ?

17.

(a) 72
(b) 36
(c) 18
(d) 12

Let @ and B be the roots of the

" equation x2+px+¢=0. If «® and

18.

19.

B? are the roots of the equation
x2+ mx +n =0, then what is the value
of m+n?

@ P+’ +pq
) p*+¢’-pq
) P+’ +3pq
@ p’+q’-3pg
Let a and B be the roots of the equa-
tion x2—ax—bx+ab—c=0. What is

the quadratic equation whose roots are
aand b?

@ x*-axr—-px+af+c=0
) *-—ax-px+af-c=0
() X*+ax+px+afp+c=0
d 2+ax+px+af-c=0
If the roots of the equation

X—-ax-bx-cx+bc+ca=0

are equal, then which one of the
following is correct ?

(@ at+tb+c=0
b) a-b+c=0
(¢) a+b-c=0
d -a+b+c=0
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20. ¥ T o 3R B (a> B), wHET (a) 1

X-8x+g=0F T ¥ ®) 2
AL - b
;ﬁ.;a B2=16%, A g F 7F T o
(d) 8
(a) -15
®) 10 24.3f% a, b, ¢ IR WM (GP) # €, el
' a>0,b>0,c>0%, at frafafaa &
) 10 ¥ a8 gt € 7
(@) 15 1. a2, b2, c? IR Aoft (GP) 7 &
21.n W Sl AW o R, Pk 2.2, 4, L i aft o) # #
fore (301 +351), 57 & fawrew 2, wwig - -
wF Al wer g 2 3. Va, \b, e TR it (GP) 3 §
@) 4 R R w e W o sw
(b) 6
(a) Sae 1 3R 2
(¢) 7
(b) Fa 2 3R 3
(d) 8
(c) &9« 1 3R 3
22. 2(2x1)+3(3%2x1)+4(4x3x2x1)+
S(5XAX3X2XT) + oot s + @ 1,233
9(9x8xTx6x5x4x3x2x1)+2 H AW
w1 # 25.7f 228, 5, bte waoms ot p)
(a) 11! ﬁé,?hﬁw%f@aﬁﬁmﬂa-maﬁ
g7
(b) 10! .
(a) a, b, c AR vt (AP) & ¥
(c) 10+10!
(b) a, b, c IR AV (GP) #F &
(@ 11+10!
() a+b, b+ec, c+a TOMR Ait
23.9fC A={1,2,3} %, @ 4 F = (GP) #
Tead (X de) #* fRaw sawe d) a+b,b+c,c+aTATR At (AP)
e 7 i ¥

SDFR-S-HTM - A 8



20.

21.

22.

23.

Let @ and B (a> ) be the roots
of the equation x> — 8x + ¢ = 0. If
a? — B%= 16, then what is the value
of g?

(@ -15

(b) -10

) 10

@ 15

What is the maximum value of n such
that 5” divides (30! + 35!), where n is a
natural number ?

(a) 4

(b) 6

(c) 7

@ 8

What is the value of
2(2x1)+3(3x2x1)+4(4x3x2x1)+
S(OXARIRIHY) i croiie iasns +
9(9%x8xTx6x5%x4x3x2x1)+2 ?

(a) 11!

(b) 10!

(c) 10+10!

(d) 11+10!

If A={{1, 2, 3}}, then how many
elements are there in the power set
of A?

24,

25.

(a 1
(b) 2
(c) 4

(d 8

If a, b, ¢ are in GP where a > 0, b > 0,
¢>0, then which of the following
are correct ?

1. a2, b2, ¢? are in GP

1 1 L
2.5, ;E&IEIIIGP

Q| —

3. Ja, \b, Ve are in GP

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only

(d 1,2and3

It a;b, b, b;c are in HP,

then which one of the following is
correct ?

(@) a, b, c are in AP

(b) a, b, c are in GP

(c) a+b,b+c, c+a are in GP

(d a+b, b+c, c+a are in AP

A - SDFR-S-HTM



26. cot?15° + tan?15° & WA T § 7
(@) 12
(b) 14
(© 83

d 4

27. @& By 4BC #,
sind — cosB—cosC=0 % |
FIr B e sk @ 7

@ ¢
/4
® 7

(©)

W[y

n
@ 7

28.1:1?:a+ﬁ=% 3R 2tana =1 ¥,
ar tan2p foFas SR 2 7

W=

(2)

(b)

WM

(©)

E N

wn|w

(d

SDFR-S-HTM - A
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29.

30.

31.

If¢ tan(45°+0) = 1+5sin20 B, w&t

-%-:Ek%%, A cos20 F WE T

g7
(@ 0
1
b) 5
(c 1

@ 2

M AT sin20=cos36, 5Bl 0 UH
A R | T 1 + 4sin H WA HT
22

(7 fom T & fo5 sm18°=£%"—1)
@ 3

() 2

(c) 5

@ 3

uﬁ.‘m&:—%%, A sin® H HH T
B T © ?

@ 3 B -3 7 & ww

) -7, B 2 i & e

© %m—%
(d) S # ¥ T



26. What is value of cot?15° + tan®15° ? 29. If tan(45°+0) = 1+sin20, where
_%< 9<l;. , then what is the value of

(@ 12
cos26 ?
(b) 14
@ 0
© 83
1
@ 4 ®) >
(c) 1
27. In a triangle 4BC,
sind —cosB —cosC=0. @ 2

What is angle B equal to ?

30. Let sin20=cos30, where 6 is acute

(@) % angle. What is the value of 1+ 4sin6?
4 (given that sin18° = ‘54"1)
® 7
@ 3
T
) X
@ 7 @) 5
@ 3
28.Ifa+ﬁ=% and 2tana = 1, then what P
is tan28 1107 31.Iftan9=--ﬁ, then what can be the
value of sin0?
1
@ 3
5 = ¥
(a) 13 but cannot be 13
2
(®) 3 5 5
(b) 13 but cannot be 13
3
© 7
5 5
(c) 1313
3
@ 35 (d) None of the above

11 A — SDFR-S-HTM



32.

33.

cos428£+cos4-5—§£ F WE TR ?

|

(a)

Blw

(®)

(= ] [#%]

(c)

@

sinz(% + BJ -sinz(%— 9)
fores aer ? 2

(a) sin26

. (b) cos26

(c) 2sin®

(d) 2cosf

. T& FEMR TR T 8fas g9da |

Tl ® IR WEF TR h dE=EE T TE
EASRUE HEATER WSl © | | & foredt
fog W oo & @@ sk o &
IR HI T O R 20 ® | TR
& FAE TR 7

(a) hcos@
(b) hsin@
(c) hcos20

(d) hsin26

SDFR-S-HTM - A

12

35.

36'

37.

W G F I H0 60° F ufaffa
T 0 W UEHdT € A UF TE d
BT x Hiex &l B St # | 3 e
#1 F9TE 3x iR 2, @ Frfofe #
91 wE 7

@@ 0< 6<30°
(b) 30° < 6 < 45°
(c) 45° < 6 < 60°

(d) 60° <6< 90°

A el (g ¢
0<x<6%, a x fred auax & ?
(a 1

(b) 2

(c) 3

(d 5

afe 3sinlx + coslx = 7 &, ¥ x fFa®
R B 7

@@ 0

B |

(b)
1
(c) 2

(d)

i



32.

33.

34.

What is the value of

47 451
cos —+cos — ?
8 8

@ 3

Slw

(b)

00|

(©

(d

What is sinz(%+9)—sin2(%—-9)
equal to ?
(a) sin26
(b) cos26
() 2sind

(d) 2cos6

A vertical tower stands on a horizontal
plane and is surmounted by a vertical
flagstaff of height 4. At a point on the
plane the angles of elevation of the
bottom and top of the flagstaff are 6
and 26 respectively. What is the height
of the tower ?

(a) hcos@
(b) hsin®
(c) hcos26

(d) hsin26

13

35.

36.

37.

The shadow of a tower becomes x
metre longer, when the angle of
elevation of sun changes from 60° to 6.

If the height of the tower is \3x metre,

then which one of the following is
correct ?

() 0< 6<30°
b) 30° < 6 < 45°
(c) 45° < 6 < 60°

(d) 60° < 6 < 90°

2 34 e

0 < x < 6, then what is x equal to ?

If tan-'(l) " m—l(i) _z

(@ 1

(b) 2
(c) 3
d 5

If 3sin"'x + cos”lx = 7z, then what is x
equal to ?

(@ 0

(b)

B =

(c)

Sl

&=

(d)

A — SDFR-S-HTM



38. f% tanex + tanB = 1 — tana.tanB &, et
tana.tanf=1 ®, @ f=fafea #F &
F-AT (a+p) & "I # ¥ T AW
B

@

=N

®)

k]

(©)

w|y

(d)

S

39.3f% (1 +tanO)(1 +tan90)=2 &, @

tan(100) &1 W FT § ?
(@ 0
(®) 1
(¢) 2

(d) ==

40. sin0° + sin10° + sin20° + sin30° + ... +

sin360° & A FT ¥ ?
(a) -1
() 0
© 1
@ 2

SDFR-S-HTM - A

14

4. 99599 A={1, 2, 3, 4} & wH
JrageRal | faer fiftg | o @
oot =g {4) % siftreg=ag € 7
(@ 6
®) 7
(c) 8
d 9

42. T s w94t 4 IR B F way #
Frafafea w1t ® R $ifvc .
1. x¢(AUB) = xgA 941 x¢B
2. x¢(ANB) = x¢A 3R xeB

I # A F-U1 /AR FIT wE
R/

(@) &ad 1
(b) Fas 2
() 1323t
(d FA 1,782
43. 3 Ik w=aal 4 3R B & ey #
ﬁﬁﬁf@ﬁﬂiﬁq{ww:

1. AUB=ANB aft 3R Faw afe
A=B

2. AAB= ¢ af¢ 3R %aw afe 4=B
IgeE H ¥ H-1 /AT FIH wE
R/E?

(a) &ae 1
(b) Fa« 2
(c) 1323
(d JdL,AE2



38. If tana +tanf =1 —tana.tanff, where
tana.tanf#1, then which of the
following is one of the values of

(a+p)?

@ %

(b)

b

(c)

w|y

@ 5
39, If (1 + tan@)(1 + tan98) = 2, then what
is the value of tan(106) ?
(@ 0
®) 1
© 2

(d) Infinite

40. What is the value of
sin0° + sin10° + sin20° + sin30° + ... +
sin360° ?
(a) -1
() 0
(c) 1

@ 2

41. Consider all the subsets of the set
A={1,2,3,4}. How many of them are
supersets of the set {4} ?

(@ 6

(b) 7

() 8

@ 9

42. Consider the following statements in

respect of two non-empty sets 4 and B :
1. xg(4AUB) => x¢A or x¢B
2. x¢(ANB) = x¢A and x¢B

Which of the above statements is/are
correct ?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

43. Consider the following statements in
respect of two non-empty sets 4 and B :

1. AUB=ANB iff A=B
2. AAB= @iff A=B

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A - SDFR-S-HTM



4.3 2-5xy+42=0 & @ xRy TR
uRenfya aqef der & wygsag IN#
TEY R ¥ aR # Frafafes s w
far $ife .

1. RETH &
2. R gaft@
3. R 9% ©

I9GH H ¥ FN-A1 /-8 FIT G
g/%?

(a) *a« 1
(b) e 2
(c) ¥ae 1 3R 2
d 1,233
45. fomelt wqeaa 4 W ot ot Gew R &
forg frfafa Fadt w fmm $ifm
1. 7f REg &, AR o @ R

2. afe R aufim 8, @ R st awfig
2

3.3 R d@wme B, @ R
THFHT B

I # ¥ FH-w/FA- FET G

/%7

(a) %ﬁal_aﬁtz

(b) Faw 2 3R 3

(c) Fa1 1 3K 3

d 1,23R3

SDFR-S-HTM - A

46.ﬁiarrg@xa%’|vrirsw 2, et
i=+-1%7?

(a)

|
sy

n
®) -7
()

(d)

47. (ﬁ_%)m

(b)
(c)

48. Frafafes #wt w fmr Hifvg .

1. -g—i',s%ﬁnm%. Fetn>32

2. 31+3,7% Porsa &, st n >3 8
I # A -1 /IA-A FAT T
R/R?

(a) &ad 1
(b) Fa 2
() 13R23mi
d qF@ 1,782



44

45.

Consider the following statements in
respect of the relation R in the set IN
of natural numbers defined by xRy if
-5xy +42=0:

1. R is reflexive
2. R is symmetric
3. R is transitive

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) 1and2 onlf

(d) 1,2 and 3

Consider the following statements in
respect of any relation R on a set 4 :

1. If R is reflexive, then R! is also
reflexive

2. If R is symmetric, then R~! is also
symmetric :

3. If R is transitive, then R~! is also
transitive

Which of the above statements are
correct ?

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only

(d 1,2 and 3

17

46. What is the principal argument of —

1
1+i

where i =+/-1?

@ -Z

T
® -7

(c)

N

)

a8

47. What is the modulus of

24

(a)

B)—

(b)
©
(d) 2200

— Nl’—'

48. Consider the following statements :

!
1. %; is divisible by 6, where n> 3

2. 21 +3 is divisible by 7, where
n>3

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — SDFR-S-HTM



49. 9 fgenfeat & @ 5 faenfeat i & dw

51.

foham adltet & o o wadt § @i @
fadw faenfeat & dw ¥ amx @ =
S ?

(a) 14
(b) 21
© 35

(d) 42

.(;wl)zMI ¥ WER H, 39 W A

x
n+1)™ T AW (S T x F
FaIE ural § afeE ) ?

(@) C(2n, n)x

(b) C@n, n—1)x

(¢) C(2n, n)

@) C@n,n-1)

afy foedt sk Avft (AP) & wam 9
G & INRA, 3@ W4H 11 o &

AR & EEK §, o S84 WUH 20
Gl 1 AR 4T € 7

(@ 20
(b) 10
© 2
@ o

SDFR-S-HTM - A
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52. afy fsf wai Aok (AP) &1 5T we

%%mmloﬁw%ta’rm
50 UG &1 FNTHA T TR ?

(@) 25
(b) 255
() 26

(d) 265

. (1110011), = (10111), fFad =R

®7

() (101),
(b) (1001),
(© (111}

@ (1011),

. afG x3+y3=(100010111), 3R x+y =

(11111), & @ -y +xy Fras
R B 7 s

(a) (1101),

() (1001),
(¢) (1011),

@ @111y,



49. In how many ways can a team of 5

51.

players be selected out of 9 players so
as to exclude two particular players ?

(a) 14
(b) 21
(c) 35

d) 42

2n

. In the expansion of (x+%) , what is
the (n + 1)th term from the end (when 3.

arranged in descending powers of x) ?
@@ C@n, n)x

(b) C2n, n—1)x

(c) C2n,n)

(d C2n,n-1)

If the sum of the first 9 terms of an AP 54
is equal to sum of the first 11 terms,

then what is the sum of the first 20

terms ?7

(a) 20

(b) 10

() 2
@ 0

19

52.

If the S term ofanAPisT% and its

10t term is %, then what is the sum of
first 50 terms ?

(a) 25

(b) 255

(c) 26

@) 265

What is (1110011), +(10111); equal
to ?

(a) (101),
(b) (1001),
(c) (111),

(d) (1011),

. If x3+y3=(100010111), and x+y =

(11111),, then what is (x—y)*+xy
equal to ?

(a) (1101),
(b) (1001);
(c) (1011),

(d) (1111),

A — SDFR-S-HTM



55, Frafirarat

57.

LG L 1+("_y]2=[f’fl]§

5x—4y+12 < 0, x+y<2,x<0 3R
y>0R =R $ifse | frafafea § 3
F-a faeg wdfE o 3 2 2

(@ (0,0

(b) (_21'4)

(©) (-1, 4)

(d) (_I'.! 2)

BT y=[x], xe(-1,1) & Gy H

frafafas st w fer fifte, el
[.] Feww quits we #

1. x=0-5R TS FaaFT 0 &
2. 98 x=0-5 R §ad ¢

IE # A -8 /- T T
R/2?

(a) a1
(b) e 2
(c) 13R 23t
(d A 1L,7T82
4

dx dx?
& HTE TR ?

(a) %

(®) 2
(c) 3
d 4

SDFR-S-HTM - A
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58.

59.

o Awdi wd ¥ g e Hr w,
96 werd H frmE A F g
R 3R st werd 100 ast F em

Bl ®, @ wu e (st
forgs) =1 2 2

(@)

— | —
3S

(b)

— -
35

-y
—
o

© 4

8

)
N
%}

@ 2

8

P f(@)=A1-(x-1)7 W W@ F@
R7?

@ © 1)

®) [-1, 1]

© (©2)

@ [0, 2]

. RTqTd Y =4kx IR zEF e

(ew ) g wRag &7 &1 e
2497 TS R, Rl k> 0R | kH HE
;R ?

(@) 1
(b) 2

- €) 3

(d) 4



55. Consider the inequations

57.

S5x—4y+12< 0, x+y<2,x<0 and
y>0. Which one of the following
points lies in the common region ?

@@ (0,0)
®) 2,4
© 1, 4)
@ 1,2

. Consider the following statements

in respect of the function y=[x],
xe(-1,1) where [.] is the greatest
integer function :

1. Its derivative is 0 at x=0-5
2. It is continuous at x=0

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

What is the degree of the differential

4
2 2.\3
equation 1+ [%) & (%] 9

@ 3

(b) 2
© 3
d 4

21

58. A radioactive substance decays at a
rate proportional to the amount of
substance present. If half of the
substance decays in 100 years, then
what is the decay constant (propor-
tionality constant) ?

@'

8

-
O

(®)

2

S
f—
=

© 7

8

(3%
2

@ lln

8

59, What is the domain of the ﬁ.mction
F@=A1-G-1 ?
@ 1)
®) 1, 1]
© ©,2)

d [0, 2]

60. The area of the region bounded by
the parabola )2 = 4kx, where k > 0 and
its latus rectum is 24 square units.
What is the value of k7

@ 1
(b) 2
© 3
(d) 4

A — SDFR-S-HTM



; el 64. [~ X ax fres sTeR £ 7
& .L (sinx+cosx)? bt & 2 Il
(a) -2
@ -1 () -1
(c) 1
1
®) 3 d) 2
© 1 65. sindx + 2x & T o R /8, wimi
0<x< % 2
@ 3 @ 1
() 2
62. I(sinx)_uz(cosx)-mdx frae U] Gre
1 @ 8

66. % f(x)=—— — @ srfm

(a) +tanx+c tan x + cot x
Hﬁﬂt,ﬂﬁo<x<-’%g?
(b) 2+tanx +c
@ 3
(c) +cotx+c
®) 1
(d) +2tanx+c 2
j () 1
_[_ea o @ 2
63.7f 1, Ie‘+e-‘ a1, J.erH
&A1+ LT ae R 2 67. afy
2 4f(x)—f(-};) =(2'x+%) (Zx——%) 2,
W gt A £(2) S s £ 7
(b) x+c @ 0
(b) 1
(c) In(e*+e™+c © 2
d) In(e*-e®+c (d 4

SDFR-S-HTM - A 22



x -1
. [4 64. What is | %X dx equal to ?
61. What is _[0 Gt conny? Sl 10 L&
(@ -2
@ -3 () -1
: () 1
1 @ 2
®) 3
65. How many extreme values does
© 1 sin4x + 2x, where 0<x<% have ?
a) 1
@ 3 :
() 2
(c) 4
62. What is [ (sinx)™"*(cosx)™” dx equal @ 8
to ? '
66. What is the maximum value of the
J : EOTN el
(a) +tanx+c function f(x)_tanx+cotx’ where
n
() 2Vtanx+c g
1
(¢) eotx+c @ 2
(d 2tanx+c ®) %
(© 1
*dx dx
63.1f1=_|"" d I=|5—, d) 2
1 ex+e-x an & e2I+1 ( )
then what is I} + I, equal to ? 67. If
1 1 1
4f(x)—- (—)=(2x+—)(2x——),
e r@-1(3 1)(2e-%
2 then what is f(2) equal to ?
®) x+c - 9
e (b) 1
X) +
(c) In(e*t+e *') c © 2
d) In(e*—e™®+c (d) 4

23 - A — SDFR-S-HTM



68. af% f(x) = 4x + 3, T fofef (1) Firerd
TR B ?

(@ -1
() 0
() 1
d 2

69.3R xy*=1%, @ (I, )W %m
WECR?
@ -1
(®) 0
© 1
@ 4

70.7R y=(YR Wx=1w %mm
R ?
(@) %
®) 1

(¢ 2
@ 4

71. W AT y =[x + 1], -4 <x < -3, e
[.] Weww quife 6o 8 | x=-3-5 W x
& G H y F AGEHeA T 7

(a -4
®) 35
(c) -3
@ o

SDFR-S-HTM - A
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72.

74.

75.

R % = (InS)y, & y(0)=In5 &, @
y(1) T s & 7

() 0

(®) 5

(c) 2In5

d) 5inS

LEE f(x) =10 F w9y # frafafea

R frar $ifsrg .

1. SR WA (~oo0, 0) ¥

2. 9% U& §ad oA ¢

3. 9§ x =0 R A
94T # A -8 U EE § 7
(a) Fa9 132

(b) Had 23R 3

(c) Fa 13K 3

d 1,23K3

lim 3 (cosec x)? formar aveR & 7

x—0

(@ 0
1
®) 35

© 1
(d) & = sfea 7@ @

im 2-=L s e #

x—la/x—1

(@ 0

() 3

(c) 6

(d) #r @ sferea = R



68. If f(x) = 4x + 3, then what is fofef (1)

70.

71.

. If x¥y*=1, then what is

equal to ?
(@) -1
() 0
© 1
d 2
% at (1, 1)
equal to ?
@ -1
(b) 0
() 1
d) 4

If y = (x*)%, then what is the value of
D atx=17?

@ 3
(®) 1
(c) 2
d 4
Let y=[x+1], -4 <x<-3 where [.]
is the greatest integer function. What

is the derivative of y with respect to x
at x=-3-5?

(a) -4
(b)
© -3
@ o

-3-5

25

72.

73.

74.

78,

If % = (InS)y with y(0)=In5, then
what is y(1) equal to ?
@ 0
() 5
(c) 2In5
(d) 5In5
Consider the following in respect of
the function f(x) = 10*:
1. Its domain is (—0, )
2. It is a continuous function
3. It is differentiable at x=0

Which of the above statements are
correct ?

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2and 3

What is lim x> (cosec x)? equal to ?
x—0

(© 1
(d) Limit does not exist

-1
x-1

What is lim

x—1
(a) 0
® 3
(c) 6
(d) Limit does not exist

equal to ?

A - SDFR-S-HTM



76. Frafafem # & for sioe # wom 79. 3% xy=4225 ®, W& x R y wAQl

'f(i)=%3-7—’2‘2+6x+sgmm%? FAG €, @ x+y & AW qH T
SoY
(a) ¥ (-0, 1) @ 130
®) (1,6) (b) 260
S (c) 2113
& & d) 4226

(d) (=, 1)U (6,x)
' 80, Tefraor x 2 2y = 0 forefya a=an

dx
77.3R x=2 W T f(x) =2 +2nx+1 i
N FTFA G B, A m+ 8n N WA (a) TH W @-FA
TR (b) T F9-T
(@) -2 (c) TH TRawd-gel
®) 0 (d) T qrefg-ga
15 () 2 81. afy fdwi® (-5, 0), (5p%, 10p) 3K

(5¢2, 10g) o fog w3t €, & pg &1

(d) IwTa g (3e1) F FRw Fraifa o Y, e prg B 7

el T s a=an
(a) -2
78.9% y=x R y=x>F o9 #, e (b) -1
wgaiy § swRfi| &9 w1 fEea W= © 1
R @2
(@) %W’f?ﬁﬂé 82. 99 W Y@1 @ i F1 € W fig
(1, -2) & ToRdl ® 3R & W =R
®) %?ﬂfﬁrﬁ @S STl § ?
@ x+y-1=0
© L =t it
() x+y+1=0
(d) 1 =t zard d x-y-2=0

SDFR-S-HTM - A 26



76.

file

78.

In which one of the following intervals

3 2
is the function £ (x) =£§--%

decreasing ?

+6x+5

(@) (-, 1) only

(b) (1, 6)

(©) (6, =) only

(d) (o0, 1) U (6, )

If the derivative of the function

f(x)=%+2nx+l vanishes at x=2,
then what is the value of m + 8n ?

(@) -2
(b) 0
(© 2

(d) Cannot be determined due to
insufficient data

What is the area included in the first
quadrant between the curves y =x and

. y=x?

(a)

00| p=t

square unit

square unit

N

®)
© 3

square unit

(d) 1 square unit

27

79.

81.

82.

If xy=4225 where x, y are natural
numbers, then what is the minimum
value of x+y?

(@ 130
(b) 260
(c) 2113
(d) 4226

. What does the equstion x%—2y=0

represent ?

(a) A family of straight lines

(b) A family of circles

(c) A family of parabolas

(d) A family of ellipses

If the points with coordinates (-5, 0),

(5p?, 10p) and (542, 10g) are collinear,
then what is the value of pg where

p#q?

(a) -2

®) -1

(¢ 1

d 2

What is the equation of the straight line
which passes through the point (1, -2)

and cuts off equal intercepts from the
axes ?

(@) x+y-1=0
(b) x-y-1=0
() x+y+1=0
@ x-y-2=0

A - SDFR-S-HTM



83.30 99 H GHIGKT T € SN WUH 86. W wiforg el Brqwr ABC Y st

wgate # A1 et SR @y -2 =0 BC, CA 3R AB & w=Tgal $A: a, b
wfawarg ? iR c® | 3t p 3w P & ol sk
q@ﬁqﬁ%,‘éﬁ
(@) X+y?-2-2y-1=0 p(p_za)m(.g.]ﬁmaam%?
b) ¥2+y2+2x+29+1=0 (@ g
() 2+y2-2x-2p+1=0 ®) 2
(c) 3¢
(d) x2+y*—4x-4y+4=0 @ 4
84, 7f% (-3, 0) 3R FEaT x-3=0 T 87.0F W W x+2y+2=0 3R
TRaed FT GHIG FT R ? 2x - 3y — 3 = 0% Wit fag & Toralt
2| 7 ¥ @iy § R sEEe
(@ y*=3x T 8 | smEvel F frRuw AW
TR TR ? -
(b) x2=12y @ 2
(©) y* =12 (b) 3
@ y?=-12r e
d 6
85. qrega x2+2y2=1 H W[ F =
ﬁiﬂw%)j 88. forr wicmet & anfiwr 3@
ax+by+c=03Rbx+ay+c=0
GL i A (a#0,b#0) €7
(a) ¥ a—b=0
b 2
(b) ¥F a+b=0
o () @ k=0
d 242 (d ab+1=0

SDFR-S-HTM - A 28



83.

85.

What is the equation of the circle
which touches both the axes in the first
quadrant and the line y—2=07?

(@ x*+y?-2x-2y-1=0
(b) x2+)?+2x+2p+1=0
(€) 2+y?-2x-2p+1=0

(d) x>+)y?—4x-4y+4=0

. What is the equation of the para-

bola with focus (-3, 0) and directrix
x-3=0?

(@ =3
) ¥*=12
(¢) y*=1

d) y*=-12

What is the distance between the foci
of the ellipse x%+2y2=17?

(a 1

(b) 2

(c) 2

@ 242

86. Let a, b, c be the lengths of sides BC,

CA, AB respectively of a triangle ABC.
If p is the perimeter and g is the area
of the triangle, then what is

p(p—za)tan(g;) equal 107
@@ g
(b) 2g
©) 3¢

(@ 4q

. A straight line passes through the
- point of intersection of x+2y+2=0

and 2x — 3y — 3 =0. It cuts equal inter-
cepts in the fourth quadrant. What is
the sum of the absolute values of the
intercepts ?

(@ 2

(® 3

(c) 4

d 6

. Under which one of the following

conditions are the lines ax+ by +¢c=0
and bx + ay + ¢ = 0 parallel (@ # 0,
b#0)?

(@) a-b=0 only

(b) a+b=0only

(¢) a*>-b=0

(d ab+1=0

L ]
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89. @ x+y=p?ﬁ_ﬁf?li‘$3ﬁffﬂﬂ€3f
R W @rEE F weafag & fagey &
iR T R, (VT p UF Aretas
@ g) ?

‘(a) x-y=0
(b) x+y=0
(€) x-y=p
(d x+y=p
90. afe &g (x, y) 75 (24, 0) K (0, 3a)

AR QYWY &l a>08, @
frafafea # @ A-wwdi @ 2

(@) 2x—-3y=0

) 3x-2y=0

(c) 4x—6y+5a=0

(d) 4x—6y—5a=0
e d\ (03) wE & forg feafles w
ﬁﬂ'l’(ﬁﬁl'q:
THAA 6x +hy+3z—12=0, & k=0 @,
frduie sret = w4, B @R C R @

? | @fag R 4, B, C ¥ oA I N w0
FHEOT x2+32 +22 - 2x—3y—4z=02 |

9. kH AR FT§ ?

(a) 3
(®) 4
(c) 6

(d) 12

SDFR-S-HTM - A

92. 3% p M & ¥ | THAA R ThEad g
AP ¥ dm-mad 2

(@ 0<p<0S5
(b) 05<p<l1
(c) 1<p<1s5
@@ p>15

93, m@fig AR MY F ¥y ¥ A AR
X &t a2

(@ x=y=z
(b) Zx=3y=4z
(c) 6x=3y=4z

(d 6x=4y=3z

e 2 (02) 9 F oy frafafes w fer
Ff

e w2 2eZog fig
(2,3,-6) 8 ToRaT R |

94. had R Tt st & fig-amuma
T E?

(@ <3,2, 1>
(b) <2,3, 6>
(c) <6, 3, 2>
(@) <1, 2, 3>

30



89, What is the equation of the locus of the
mid-point of the line segment obtained
by cutting the line x + y = p, (where p
is a real number) by the coordinate
axes ?

@ x-y=0
(b) x+y=0
) x-y=p
(d x+y=p

90. If the point (x, y) is equidistant from
the points (2a, 0) and (0, 3a) where
a > 0, then which one of the following
is correct ?

(@ 2x-3y=0

®) 3x-2y=0

(c) 4x—-6y+5a=0

(d) 4x-6y—5a=0
Consider the following for the next three
(03) items that follow :

The plane 6x + ky +3z— 12 =0 where k#0
meets the coordinate axes at 4, B and C
respectively. The equation of the sphere
passing through the origin and 4, B, C is
2+y2+2-2x-3y—4z=0.

91. What is the value of k ?
(@ 3
(b) 4
(c) 6
@ 12

31

92. If p is the perpendicular distance from
the centre of the sphere to the plane,
then which one of the following is
correct ?

(@ 0<p<0s5
®) 05<p<1
) 1<p<l15

d p>15

93. What is the equation of the line
through the origin and the centre of the
sphere ?

(@ x=y=z
(b) 2x=3y=4z
(c) 6x=3y=4z

(d 6x=4y=3z

Consider the following for the next fwe (02)
items that follow :

Let the plane ;+2—y %—2 pass through

the point (2, 3, —6).

94. What are the direction ratios of a
normal to the plane ?

(@)
(b)
©
(d)

<3,2, 1>
<2, 3, 6>
<6, 3, 2>
<1, 2,3
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95.af 3 wWaw TR Fewe e w
m‘mﬂﬂ:@ﬁm:p,q&ﬂ'{r%,
@A (p+g+rfras st ?

@ 10
(b) 11
© 12
@ 13

96. afG 4 + j - 3k IR pi +qj -2k WA
afewr € @ p IR ¢ F wWE WA
FEA: TR ?

(a) 4,1

(b) 1,4

32

g bt

2 8
9.3
97. afg Tt By 4BC S sfai 4, B3k C
¥ forfy afew w7, b 9k € &,

IR G B &1 F== ®, @ 4G
forees s R 7

e
a+b+c

(a)

(®)

(c) 3

(@

SDFR-S-HTM - A
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98. Frfofiaa Fwmt = famr Hifv -
1.3&?0 TS, AfeW AMET |

FeATHS B

2. wfewr oAwRe, wfew FMEe W)

HeATHS ©

3. afet @ Wy PEEE weEd
BT ®

Igeh # ¥ FH-E1/IH-8 FGH wE
R/E?

(a) ¥4« 1

(b) e 2

(c) Faa13R2
d 1,233

99. 7 Wil @, b IR ¢ 4 @R

RUT TR EF axb=Cc 2 | 5@
frafafes s9°1 | far fifo
Lafk b IR S RumE A 7
Afgea @
2.7 7 R b Rum A 2
afedia @
IEE H A FE-91/FH-8 F99 q@
_/8 7
(a) 9« 1
(b) Fae 2
() 13R23mt
(dTdAML,TI02



95. If p, q and r are the intercepts made

97.

by the plane on the coordinate axes
respectively, then what is (p+¢g+7r)
equal to ?

@ 10
(b) 11
© 12
@ 13

.If 4i+j-3k and pf+q}’—2kﬂ are

collinear vectors, then what are the
possible values of p and g respec-
tively ?

(@) 4,1
(®) 1,4

If @, b, € are the position vectors of
the vertices 4, B, C respectively of a
triangle ABC and G is the centroid of
the triangle, then what is 4G equal
to ?

(a)

Brbed
3
_’
2a-b-
(b) T R
(c) ___3‘;3.__

(d)

33

98. Consider the following statements :

1. Dot product over vector addition
is distributive

2. Cross product over vector addition
is distributive

3. Cross product of vectors is asso-
ciative

Which of the above statements is/are
correct ? :

(a) 1 only
(b) 2 only
(c) 1 and 2 only

(d 1,2and 3

-y
.Let @, b, c bg three non-zero vectors
such that @x b = ¢. Consider the fol-
lowing statements :
-
1. @ is unique if b and ¢ are given

—’
2. Cis unique if @ and b are given

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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100. 7 wifw 7 3K B, o T ARy

101.

102.

4

vaR &% [d-bl<2 ¥ 19R Tk B
F =19 & F0 20 B, o Frafafaa w1 @
FA-41 TG R ?

(a) F99 0<sinf<1

1

(b) FE —%<sin9<2

(c) ¥ae —1<sinf<0

(d -1<sinf<1

1,2,3,4,5% ¥ 3 3 agfoos &9 A
I W § IR IR UE-gEe @ o foRm
STaT B | 3@ 9 S wn wilear ¢ f
W UAEA & 3l 3 0 AT ?

1
@ 15

1
) 3
© %

4
@ =
TEH VAN ¥ WW o9 (%) F ATET

Irgfe @ (Twegerhl WG gQ) @
IR faww 2 | 9% ¥ 7 fosd foren
ST ST ? :

(a) Wrex > AIfEhT > agas
(b) WA > SEEF > HIEAH
(c) wifera > wrem > sged
(d) sgers > wiferat > wiem

SDFR-S-HTM - A
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103.

104.

105.

Ui T WUt T WA 3.6 | afe
T Y § ¥ IR WEw 2,2,4, 5, @
A YT TR ?

(a) 4

() 5

(© 7

d 9

T FHIERK A0l (AP)F 50 IGH 1 FHIGR
wreg Fa1 B e waw ug 4 3k 9
AW 4R 7

(a) 50

() 51

(c) 100

d 102

21, 34, 23, 39, 26, 37, 40, 20, 33,27 &
w1er fome Iunies (wmem & foram )
e

(a) 0-11

(b) 022

(c) 0-33

(d) 0-44



100. Let @ and -g be two unit vectors such

101.

102.

that l'&’-gl<2. If 260 is the angle
-—'.

between @ and b, then which one of

the following is correct ?

(a8 0<sind<1 only

®) -3 < sin < 1 only

(¢) -1 <sinf <0 only

(d) -1<sinf <1

Two digits out of 1, 2, 3, 4, 5 are
chosen at random and multiplied
together. What is the probability that

the last digit in the product appears
as 07

@ 15

(®)

U |

(©

AL S

@

S

The frequency curve (assuming uni-
modal) corresponding to the data
obtained in an experiment is skewed to
the left. What conclusion can be drawn
from the curve ?

(a) Mean > Median > Mode
(b) Mean > Mode > Median
(¢) Median > Mean > Mode
(d) Mode > Median > Mean
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103. The variance of five positive observa-

tions is 3-6. If four of the observations
are 2, 2, 4, 5 then what is the remaining
observation ?

(a) 4

®) 5

() 7

d) 9

. What is the arithmetic mean of 50

terms of an AP with first term 4 and
common difference 4 ?

(a) 50

(b) 51

() 100

(d) 102

105. What is the coefficient of mean devia-

tion of 21, 34, 23, 39, 26, 37, 40, 20,
33, 27 (taken from mean) ?

(@) 011
(b) 022
(c) 033

(d) 0-44
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I W\ (03) W & fou fefafes w
forer Siforg

100 # & 3% Y WA & TH T4 x,, x5,
x:,,...x,,aiﬁi'ﬁﬁiﬂﬂiﬁﬁﬂﬂﬁméotaﬂ'{
92 # ¥ % MY T AW F g &
feraemit = fistg 2wt 1402 |
106. T 1 71EY TR ?

(@ 91

(b) 96

(c) 98

(d) 99
107. 99 # & 3k M TRl AW & FYoAd &

Tt o i AT @ 2

(@ 0

(b) 10

(c) 20

(@) 40
108. 3f% & & 3% T IR AAN F TH=A

% fraemt @ isiig T 180 ®, @ y
& AE TR ?

(@) 80
(b) 85
(c) 90
@ 95

SDFR-S-HTM - A

e @A (03) E & fog Feafafea @
(221) w fa=r & .

TS F1 A 51 BT gRT WIS GHiaGR A0
(AP) % &, foram wom wg 4 % 3k 9@ &R
3%
109. WTHhT T HIET T & ?

(a) 67

(b) 71

(c) 75

(d 79

110. WTHIsh < AT =1 § 7
(@) 795
(b) 79
(c) 785

(d) 77

111. wifeie | 3 o fomeEt & anrea
;R ?
@) -1
(b) 0
(€ 1

@ 2



Consider the following for the next three
(03) items that follow :

The algebraic sum of the deviations of a
set of values x;, x,, x3, .. x, measured
from 100 is —20 and the algebraic sum of
the deviations of the same set of values
measured from 92 is 140.

106. What is the mean of the values ?
(@ 91
(®) 96
(c) 98

(d) 99

107. What is the algebraic sum of the

deviations of the same set of values
measured from 99 ?

(@ 0

(®) 10

(c) 20

(d) 40

108. If the algebraic sum of the deviations

of the same set of values measured
from y is 180, then what is the value
of y?

(a) 80
(b) 85
() 90

) 95
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Consider the following data for the next
three (03) items that follow :

The marks obtained by 51 students in a class
are in AP with its first term 4 and common
difference 3.

109. What is the mean of the marks ?
(a) 67
(b) 71
() 75

@ 79

110. What is the median of the marks ?
(@ 795
(b) 79
(c) 785

d) 77

111. What is the sum of the deviations
measured from the median ?

(a) -1
® 0
© 1

(d 2
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F dw 03 we F g Peaffa =
s A () F frg 90 s & | SR
wEmmE TR IT R AT I
w I R

- wrawmt | f-wramt
* dean = s
Y
33§ & 18 9
RG]
3af ¥
FH F 36 27
ER G .
w7 #ife G we @ & R wed smew
H AR P e was 2 AR T
7% wer & % o ved smdeE w1 wrEmeER

form T SR A w3 w ooy R
112. P(GN T) freds s & 2
(a)
®)
©
@

Ws LW KN L—

113. P(G|T) fored s & 2
(@)
®)
(©

~N e gl 9l

@

SDFR-S-HTM - A

114. P(?IE) T aTer R 7
@ 1

(b)

L]

©

wi|w

@

Bl

F@ @ (03) vE F foo feafafes o=
(221) = R ift

fmflt sam &, seet # Rl i @
difda e &t vt i wemE 331% ¥

115. 30 99 H 1 Wik € 5 6 et
F Y79 &9 F 3 FER W S A
difea gt ?

(a) %

10
®) o
(c) 243

(@) 12



Consider the following data for the next

three (03) items that follow :

There are 90 applicants for a job. Some of
them are graduates. Some of them have less
than three years experience.

Number of | Number of
graduates |non-graduates
At least
3 years 18 9
experience
Less than
3 years 36 27
experience

Let G be the event that the first applicant
interviewed is a graduate and T be the
event that first applicant interviewed has
at least 3 years experience.

112. What is P(G N T) equal to ?

(a)

(®)

(©)

wmis Www wmn wn—

(d)

113. What is P(G|T) equal to?

(a)

(b)

(©)

(@

e Qe 9w N

39

114. What is P(T|G) equal to? |

@

(b)

(I

©

w|w

@ 2

Consider the following data for the next
three (03) items that follow :

The incidence of suffering from a disease
among workers in an industry has a chance

of 33%%.

115. What is the probability that exactly
3 out of 6 workers suffer from a
disease ?

80
(a) 729

®) 4
© 10

@ 190
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116. W a0 & T Wilkwan & & 6 st W @ 03) wE & fou feafafea
¥ § o o 3w S | difta @ w7 IRERaT-sed R faer fifvg .

= 0-20 | 20-40 | 40-60 | 60-80 [80-100
(@) S :
729 wrEwat [ 17 | p+g| 32 |p-3¢| 19
64 e IRERAT 120% | A7 S0 R |
®) =55
118. p &1 A ¥ & ?
(@ 25
© 353
() 26
1 () 27
d) —=—
@ 729 @ 28

117. T8 =ra 9 w1 wifkear & & 6 sl 119. g & #H F1 8 ?

¥ AT 0E SR WA A @ 1
difea & ? 553
@ 128 Lk,
729 @ 4
®) 6 120. 7R WF T N FRAR A A &
3 ST, A WIS 4T BN ?
@) 25
653
(c) 729 %
© 75
596
D 79 (d) 100
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116. What is the probability that no one

117.

out of 6 workers suffers from a
disease ?

- 665
(a) 729

64
®) S
PO
@ e

What is the probability that at least
one out of 6 workers suffer from a
disease ?

728
@ 735

665
b) 25

653
(c) 729

596
@ 729

Consider the following frequency distri-
bution for the next three (03) items that

follow :
Class 0-20 |20-40 | 40-60 | 60-80 | 80-100
Frequency | 17 (p+q | 32 |p-3gq| 19

The total frequency is 120. The mean is 50.

118. What is the value of p ?

(a) 25
(®) 26
(c) 27
(d 28

119. What is the value of g ?

(@ 1
() 2
(c) 3
(d 4

120. If the frequency of each class is
doubled, then what would be the

mean ?
(a) 25
(®) 50
() 75

(d) 100
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CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.
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